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1 s 40 43 | 83 11.2 71.8
2 MHEEFT 39 37 76 4.0 72.0
3 HH=ER 37 41 78 5.2 72.8
4 FRTIHT 48 45 93| 19.6 73.4
5 74 36 44 80 6.4 73.6
6 FEEER 39 45 84| 10.0 74.0
7 FAESE 41 49 90 16.0 74.0
8 74 HF+ 38 44 | 82 6.4 75.6
9 FKEFFNL 41 47 88| 12.4 75.6
10 R £H 49 44 93| 17.2 75.8
11 ZElBsE 42 44 86 10.0 76.0
12 oz EaZER 51 44 95 18.4 76.6
13 ¥ LT 54 46 | 100 23.2 76.8
14 = 1LEE 50 56 106 29.2 76.8
15 W _EEfRT 46 46 92 14.8 77.2
16 ARFHAEF 50 47 97 19.6 77.4
17 ARFHl+ 45 45 90 12.4 77.6
18 [UARHETF 44 46 90 12.4 77.6
19 {2 K&+ 47 42 89 11.2 77.8
20 AL I+ 47 47 94 16.0 78.0
21 @ HGT 50 49 99| 20.8 78.2
22 AR EBES 46 51 97 18.4 78.6
23 WHNHE 51 46 97 18.4 78.6
24 HliBeE 48 49 97| 18.4 78.6
25 PRARFE A 51 49 100 20.8 79.2
26 fhix KEFT 44 48 | 92 12.4 79.6
27 WA HERF 52 46 98 18.4 79.6
28 HAETH 51 43 94| 13.6 80.4
29 EtEE T 54 56 110 29.2 80.8
30 mNEET 56 50 106 24.4 81.6
31 UARSEHLF 49 56 105 23.2 81.8
32 HAFHET 59 64 123 34.0 89.0




